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If the button the calculator means
Common Logarithm (Log1o)

what does mean? Natural Logarithm

It stands for Log base e.

Loge = LN

This can also be written in lower case: j

Solve.
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,,Q "4\ (40 = % X do In140 then divide by 3.

Evaluate each:

1. In1=© 2. Ine =1
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3. In(e®) = s
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Solve. 9%=100
1. Write into Logarthmic form:
L0ﬁ9 (a) = X But | still don't know how

to find this value!!

2. Apply the Change of base formula.

See next page

log9



Change of Base Formula
For any positive numbers, M, b, and ¢, with b # 1 and ¢ # 1,
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Solve each equation. Round to the nearest
hundredth as necessary.
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The number of invasive species of fish in a lake is increasing
12.7% each year. The last time a count was made showed
that there were 680 of that species in the lake. Find the
number of years, to the nearest hundredth, it will take for
there first to be 10,000 of these fish in the lake.
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You invest $20,000 in an account that pays 7% annual interest.
If interest is compounded monthly find the number of years,
to the nearest hundredth, that it will take to end up with $500,000.
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